练习十
一、1.960      660      1400     170      600

      4000    2400     840       360      390

      800      690     390       1000     80

      680      2100    3600      600      3600

2.1768       2120     1215

  2072       957      5727
二、1.三，四

2.四，1558

3.2，3

4.28,30

5.=，<，=，>，>，=

6.四

7.6,450

20,1500

26,1950

8.10

9.1200
三、√，×，×，√，×
四、72,10,216
五、1.6×12=72（千克），72×5=360（千克）或5×6=30（人），30×12=360（千克）
2.85×12=1020（米），1020×2=2040（米）

3.30×4=120（个），120×7=840（个）或30×7=210（个），210×4=840（个）

4.36×35=1260（千克），1260÷5=252（箱）或35÷5=7（箱），7×36=252（箱）
5.12×50=600（元）， 600+20=620（元），620>600，不够

6.40×4=160（本），160×3=480（本）

7.4×420=1680（米），1680×5=8400（米）
练习十一
1. 略

2. 2000,800

8,4

5000，60

1000,3

5000,700

3. 千米，米，厘米，千米

4. 1千米=1000米，1000-450=550（米）

5. 8×90=720（米），1000-720=280（米），280÷8=35（根）

练习十二

一、1．8000,6

       6000，4000

       5,4000

      50000,660
      19,700

2.克，克，吨，吨，吨，吨

3.>,<,<,=,>,=

4.5100千克>5吨>6千克>5000克

练习十三

一、1.6,5000

2.米，千米，千克，吨

3.>,=,<,=,>,>

4.2000,8

5.答案不唯一
6.4,72

  10,180

  14,252

7.1000,1

二、×，√，×，√，×

三、C,B,A,C,B

四、1.120    600     880      600
  3600   63      600      0

      690    600     3200     990

2.1272      1015      5840

  1748      2240      4028

3. ×    ×

五、1.96×16=1536（名）
2.12×36+24=456（人），45×10=450（个），456>450，不够

3（1）12×6=72（个），72×3=216（个）

 （2）18×28=504（元）

4.5×12=60（人），60×3=180（棵）

5.33×12+54=450（元）

6.40×50=2000（千克），2000千克=2吨

练习十四

例1 50÷2=25（个）

例2 图略  50-10=40（个），40÷2=20（个），20+10=30（个）

试一试

1.图略   50-4=46（个），46÷2=23（个），23+4=27（个）

2.图略   700÷5=140（米），140-30=140（米），110÷2=55（米），55+30=85（米）

3.图略   108-11+5=102（元），中：102÷3=34（元），上：34+11=45（元），下：34-5=29（元）
